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BERNRE SHCEETHEBBERRAE
2 # 1BHE - Bdk et B ® i ¢ ®@ =
EENEE 8,739, 154
BEANASLES 8,739, 154
RERHE 8,739, 154
RERHE 7,106, 867
RAEERE 407, 7113
1 AEERE 1.00 271,235 271,235
=
2 BERIERE QEFEBHY) 1.00 136, 478 136, 478
=
BBRE (BRHE - BRHD) 1,604, 412
3 BEHE (BRHD) 300. 00 2, 414 724, 200
m
4 BIGHAE (FIEHE) 6.00 120, 702 724,212
i 5
5 SiTElER GEZAEW) 1.00 156, 000 156, 000
=
BBEE KPEANAS) 675, 804
6 ERAATHE 2.00 75, 853 151, 706
th 5
1 EmHhASHEE 2.00 75, 853 151, 706
th 5
8 &HAlIzFEER 1.00 50, 000 50, 000
=
9 ECERARAT 2.00 161, 196 322,392
th 5
5 - EEEMAE 362, 100
10 f15% - BEEEDHE (BEHD) 150. 00 2, 414 362, 100
m




MERRE AHOEFETHTERARRAL
% # 1t - Bkt ik Bifi & ff & # =

ROVERE (IS, 7 - BEEM) 905, 950

1M ERTA b 1.00 257,150 257,150
=

12 ROVERZE 400. 00 1,622 648, 800
m

KEIAE CKEBERA) 160, 308

13 KEHE KEBERA 12.00 13,359 160, 308
i

KERE OKEEHTA) 822,024

14 WARBED AR 1.00 84,420 84,420
=

15 gt eREE 1.00 212,744 212,744
i

16 EAIMSRHEE 1.00 212,744 212,744
i

17 SIS RR 1.00 165, 224 165, 224
i

18 BAlIgREEN 1.00 80, 000 80, 000
=

19 FCERARAT 1.00 66, 892 66, 892
i

KEAE (REERE) 276,176

20 REBRE 8.00 15,972 127,716
i

21 R OKERAE) 1.00 148, 400 148, 400
=

EHRE 153, 088

22 ik 4.00 15,972 63, 888
o

23 HHER (EHAZ) 1.00 89,200 89, 200
=




BERNRE HHCEES mE
2 # 1BHE - Bkt B £ i ]

ST 957, 480

24 > HrEE{E 1.00 957, 480 957, 480
=

i - mE 235, 200

25 EBRIHE 1.00 96, 600 96, 600
]

26 thfERE 1.00 69, 300 69, 300
]

27 IRRE 1.00 69, 300 69, 300
]

BE 546, 612

28 I{/EZER 1.00 546, 612 546, 612
=

HERE 1,632,287

TeE 1,321,959

29 REEWRM 1.00 1,321,959 1,321,959
=

BE 82,200

30 EFEBER 1.00 63, 000 63, 000
=

31 AR RERE 1.00 19, 200 19, 200
=

BIFEE 45,000

32 IFEE 1.00 45,000 45,000
=

& 183,128

33 k& 1.00 183,128 183,128




N HHEEEMEBRETRAE
% g - AKSTiE Bifr 2 il & #B W =
EENEE 6,826,578
HEHE 6,432,978 x 69.4% — 1,064 4,463,422
AEEEE 6,826,578 + 4,463, 422 11, 290, 000
BRI 1,891,920 + 20, 656 1,912,576
EEAGE 1,891,920
BEiEEE 20, 656
T DR 1,891,920 x 53.85% ( 35% + (1 — 35%)) 1,018,798
BRI 1,912,576 + 1,018,798 2,931,374
—REERF 2,931,374 x 53.85% (35% = (1 — 35%) ) — 9,918 1,568, 626
AEREHE 2,931,374 + 1,568,626 4,500, 000
BB E TS 11,290,000 + 4,500, 000 15, 790, 000
HETR SR L 15,790,000 x 10.00% 1,579, 000
BEXHE 15,790,000 + 1,579, 000 17, 369, 000




1‘%1&% - ﬁEI/ {\\Jb-_:)

SHEESALERERRAT

51
W REER IEED,
2 £ K - BIRTE B = B %8 W= 5 =&
BlEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 3.00 47,100. 00 141, 300
B = H AR
A 1.50 36, 900. 00 55, 350
BIEBF
A 0.50 34, 600. 00 17, 300
AR 2RDY
% 1.00 268, 550. 00 2,685
= 5 YEZ#eRN : 1.00K 271, 235.00 271,235
52
B BAERR QEELZY) XKy
2 £ I - BIRTE B = B %8 W= 5 =&
BIEHEE
A 2.00 25,900. 00 51,800
Sy 2t1&
=] 2.50 33, 331.00 83,327/4.70H / 8H
AR 2RDY
% 1.00 135, 127. 00 1, 351
= 5 YEZ#eRN : 1.00K 136, 478. 00 136, 478




RifiF-ET/ 75—

SHEESALERERRAT

5 :3
¥ BRIBAE (BHAE) 1BHY (150m)
& 7 FRIE - ART iR Bif = B @ ] = 5 &

REE S4 kN2 2L

=] 1.00 3, 588. 00 3,588/2.00H / 8H
SRAE M FRP D 70PSE! 3.0t

=] 1.00 80, 420. 00 80, 420 8H
B2 F T HED

A 1.00 54, 600. 00 54, 600
B S HER

A 1.00 47,100. 00 47,100
BB

A 1.00 36, 900. 00 36, 900
BKL (FA3—) 10mk 78

A 1.00 52, 200. 00 52,200
BKTHEE (FA/3—) 10mk 78

A 1.00 52, 200. 00 52,200
tmyg

A 1.00 28, 000. 00 28,000
P TR 2E0Y%

% 2.00 355, 008. 00 7,100
= 5 YE%HERN : 150.00m 2,414.00 362, 108




RifiF-ET/ 75—

SHEESALERERRAT

HS5:4
& BHEAET (EIWAD) 18&Y Gitim)
2 L7 K - BIRTE By = B O{f & £ W= 5 =&
REE S4 kN2 2L
=] 1.00 3,588. 00 3,588/2.00H / 8H
SRAE M FRP D 70PSE! 3.0t
=] 1.00 80, 420. 00 80, 420 8H
BlEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
B (FA3—) 10mk &
A 1.00 52, 200. 00 52,200
BKTHEE (A4 /1\—) 10mk &
A 1.00 52, 200. 00 52,200
rtEyg
A 1.00 28, 000. 00 28,000
AR EXND)
% 2.00 355, 008. 00 7,100
= 5 YE¥HERN - 3. 004t = 120, 702. 00 362, 108
F5:5
B SR CRIZEY) 1KY
2 L7 K - BIRTE By = B O{f & £ W= 5 =&
EIZEY
BRIR 6.00 26, 000. 00 156, 000
= it YEZE#eRN  1.00K 156, 000. 00 156, 000




RABR - LT/ 37— SHoEEEHEARSRARE
F5:6
BH: EANASBE 1B%Y Q)
£ % 36 - AR T B % @ # m =
REE S4 b2 2L
=] 0.50 3, 588. 00 1,794/2.00H / 8H
FHE M FRP D 70PS%E! 3.0t
=] 0.50 80, 420. 00 40, 210/8H
R EHRER
A 0.50 47,100. 00 23, 550
AEREH
A 0.50 36, 900. 00 18, 450
KL (5 415) 1onk 7%
A 0.50 52, 200. 00 26, 100
KB (51 /3—) 1onk 7%
A 0.50 52, 200. 00 26, 100
tEYE
A 0.50 28, 000. 00 14, 000
HHH 2t
% 1.00 150, 204. 00 1,502
=) & EERES - 2.003h 75, 853. 00 151, 706
&5 :1
BH AN ASE 1B%Y Q)
£ W 36 - AR i 3 % @ # m W
REE S4 b2 2L
=] 0.50 3, 588. 00 1,794/2.00H / 8H
FHE M FRP D 70PS%E! 3.0t
=] 0.50 80, 420. 00 40, 210/8H
R EHRER
A 0.50 47,100. 00 23, 550
AEREH
A 0.50 36, 900. 00 18, 450
KL (5 415) 1onk 7%
A 0.50 52, 200. 00 26, 100
KRB (51 /3—) 1onk 7%
A 0.50 52, 200. 00 26, 100
tEYE
A 0.50 28, 000. 00 14, 000
HHH 2t
% 1.00 150, 204. 00 1,502
=) & EERES : 2.003h R 75, 853. 00 151, 706




RifiF-ET/ 75—

SHEESALERERRAT

&5 :8
A g B - KT BAL £ fifi ] 5 &
HARREN KPERAAS
H 10. 00 5, 000. 00 50, 000
& it 1EZk8EH - 1. 00X 50, 000. 00 50, 000
&5 :9
LR FCERARAT mEY (2 R)
A g B - KT BAL £ fifi ] 5 &
FiEHREM (BED)
A 1.50 64, 800. 00 97, 200
A (B)
A 1.50 47, 200. 00 70, 800
BT E
A 4.50 33, 600. 00 151, 200
EBERAME FHEEDY
% 1.00 319, 200. 00 3,192
& it 1EZEHED - 2. 00 = 161, 196. 00 322,392




1‘%1&% - ﬁEI/ {\\Jb-_:)

SHEESALERERRAT

&5 :10
B & - EXEEYRE (BEAD) 1B&Y (150m)
2 £ K - BIRTE B = B %8 W= 5 =&
REE S4 kN2 2L
=] 1.00 3, 588. 00 3,588/2.00H / 8H
SRAE M FRP D 70PS#! 3.0t
=] 1.00 80, 420. 00 80, 420 8H
BlEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
B (FA3—) 10mk i
A 1.00 52, 200. 00 52,200
BKTHEE (A4 /1\—) 10mk i
A 1.00 52, 200. 00 52,200
|y g
A 1.00 28, 000. 00 28,000
AR 2RDY
% 2.00 355, 008. 00 7,100
= 5 YEZHRED : 150. 00m 2,414.00 362, 108
&5 1
B BETRE IEED,
2 o K - BIRTE B = =i} £ W= 5 =&
REE S4 kN2 2L
=] 1.00 3, 588. 00 3,588/2.00H / 8H
SRAEM FRP D 70PS#! 3.0t
=] 1.00 80, 420. 00 80, 420 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBF
A 1.00 34, 600. 00 34, 600
ROV
=] 1. 65 30, 000. 00 49,500
AR EXND)
% 2.00 252,108. 00 5,042
= 5 YE%#eRN : 1.00K 257,150. 00 257,150




1‘%1&% - ﬁEI/ {\\Jb-_:)

SHEESALERERRAT

&5 12
&% - ROVEAZE 1B&Y (200m)
2 £ K - BIRTE B = B %8 W= 5 =&
REE S4 kN2 2L
=] 1.00 3, 588. 00 3,588/2.00H / 8H
SRAE M FRP D 70PS#! 3.0t
=] 1.00 80, 420. 00 80, 420 8H
BlEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 2.00 36, 900. 00 73, 800
ROV
=] 1. 65 30, 000. 00 49,500
AR EXND)
% 5.00 309, 008. 00 15, 450
= 5 YE%HERN : 200.00m 1,622.00 324, 458
513
B KERAE OKBEHREERD 1B&Y (20t mR)
2 £ I - BIRTE B = B %8 W= 5 =&
REE S4 kN2 2L
=] 1.00 3, 588. 00 3,588/2.00H / 8H
SRAEM FRP D 70PS#! 3.0t
=] 1.00 80, 420. 00 80, 420 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBF
A 2.00 34, 600. 00 69, 200
ZIEHKE
=] 1. 65 15, 000. 00 24, 750
AR 2RDY
% 2.00 261, 958. 00 5,239
= 5 YEZHER - 20. 003h 2 13, 359. 00 267,197




Rz - MBI/ \vr— SHEETHEBBERRAZ

&S .14
B BARBEDAR IEED)
% FR g - BT Bif % 8 B ® & B = # &
R & B
A 1.00 47,100. 00 47,100
B SRR
A 1.00 36, 900. 00 36, 900
MM EEDY%
% 0.50 84, 000. 00 420
a & fESRRED - 1.00K 84, 420. 00 84, 420
&S :15
B BRABRE D
% FR g - BT Bif % 8 B ® & B = # &
BE 54 FRY 2
5] 0.50 3,588.00 1,794 2. 00H / 8H
HAEMm FRP D 70PSE! 3.0t
5] 0.50 80, 420. 00 40, 210 8H
R & B
A 0.50 47,100. 00 23,550
B SRR
A 0.50 36, 900. 00 18, 450
REBF
A 0.50 34, 600. 00 17, 300
RERBE
A 1.00 25, 900. 00 25, 900
BIKE (FA13—) 10mk %
A 0.50 52, 200. 00 26,100
BKEWENE (F4/5—) 10mk %
A 0.50 52, 200. 00 26,100
@Y E
A 0.50 28, 000. 00 14,000
MM EEDY
% 10.00 193, 404. 00 19, 340
I YERES ¢ 1. 00 R 212, 744.00 212, 744




RABR - LT/ 37— SHoEEEHEARSRARE
E#S:16
7 BARBHE ey
£ % St - RT3 T B % @ # m W
REE S4 b2 2L
=] 0.50 3, 588. 00 1,794/2.00H / 8H
FHE M FRP D 70PS%E! 3.0t
=] 0.50 80, 420. 00 40, 210/8H
R EHRER
A 0.50 47,100. 00 23, 550
AEREH
A 0.50 36, 900. 00 18, 450
AEYF
A 0.50 34, 600. 00 17, 300
AERPE
A 1.00 25, 900. 00 25,900
KL (5 415) 1onk 7%
A 0.50 52, 200. 00 26, 100
KB (51 /3—) 1onk 7%
A 0.50 52, 200. 00 26, 100
tEYE
A 0.50 28, 000. 00 14, 000
HHH 2t
% 10. 00 193, 404. 00 19, 340
=) & EERES - 1.003h 212, 744.00 212, 744




RifiF-ET/ 75—

SHEESALERERRAT

&5 .17
B BRI SR THhmHY
2 £ K - BIRTE B = B %8 W= 5 =&
REE S4 kN2 2L
=] 0.50 3, 588. 00 1,794/2. 00H / 8H
SRAE M FRP D 70PS#! 3.0t
=] 0.50 80, 420. 00 40, 210 8H
B S HER
A 0.50 47,100. 00 23, 550
B = H AR
A 0.50 36, 900. 00 18, 450
B (FA3—) 10mk i
A 0.50 52, 200. 00 26, 100
BKTHEE (A4 /1\—) 10mk i
A 0.50 52, 200. 00 26, 100
|y g
A 0.50 28, 000. 00 14, 000
AR 2RDY
% 10. 00 150, 204. 00 15, 020
= 5 YEZERERN - 1. 0045 165, 224. 00 165, 224
%518
&7 . BRREEN 1RHY
2 o K - BIRTE B = =i} £ W= 5 =&
BRI Bt KEHE
=] 16. 00 5, 000. 00 80, 000
= it YEZ#eRN : 1.00K 80, 000. 00 80, 000
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1‘%1&% - ﬁEI/ {\\Jb-_:)

SHEESALERERRAT

&S5 19
B . ACERFEAT THhmHY
2 £ K - BIRTE BT B = B ff %8 W= 5 =&
e (B)
A 0. 60 47, 200. 00 28,320
A (C)
A 0.50 38, 400. 00 19, 200
Hftt 8
A 0.50 33, 600. 00 16, 800
EHARE FHEEDY
% 4.00 64, 320. 00 2,572
= it YE¥RERN - 1. 0045 66, 892. 00 66, 892
&5 :20
2 REERE 1B&Y (15t mR)
2 £ I - BIRTE BT B = B ff £ W= 5 =&
REE S4 kN2 2L
=] 1.00 3, 588. 00 3,588/2.00H / 8H
SRAEM FRP D 70PS#! 3.0t
=] 1.00 80, 420. 00 80, 420 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBF
A 2.00 34, 600. 00 69, 200
AR 2RDY
% 1.00 237, 208. 00 2,372
= 5 YEZHERN : 15.003h = 15, 972. 00 239, 580
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1‘%1&% - ﬁEI/ {\\Jb-_:)

SHEESALERERRAT

&S 21
B SR OKERT) B
2 L7 K - BIRTE B = B O{f & % W= 5 =&

£2% (TN

BRIR 8.00 3, 550. 00 28,400
21> (T-P)

BRIR 8.00 3, 050. 00 24,400
fEEEME=SHR (NO3-N)

BRIR 8.00 3, 050. 00 24,400
FEEEREZER (NO2-N)

B®IR 8.00 3, 050. 00 24,400
TFUoE=THER (NHE-N)

B®IR 8.00 2,950. 00 23, 600
1) Vg4 F > (P04-P)

B®IR 8.00 2,900. 00 23,200
= it YE%EReRN : 1.00K 148, 400. 00 148, 400
BS:22
&% 7RiE 1B&Y (15t mR)

2 L7 I - BIRTE B = B O{f & % W= 5 =&

REE S4 kN2 2L

=] 1.00 3, 588. 00 3,588/2.00H / 8H
SRAEM FRP D 70PS#! 3.0t

=] 1.00 80, 420. 00 80, 420 8H
B S HER

A 1.00 47,100. 00 47,100
B = H AR

A 1.00 36, 900. 00 36, 900
BIEBF

A 2.00 34, 600. 00 69, 200
AR 2RDY

% 1.00 237, 208. 00 2,372
= 5 YEZHERN : 15.003h = 15, 972. 00 239, 580
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1‘%1&% - ﬁEI/ {\\Jb-_:)

SHEESALERERRAT

&5 23
£ R (EERAE) X5y
22 L R - BAKTIE BAL = B ff ® & = 5 &
IR AL
®ix 4.00 8, 700. 00 34, 800
{LZHIBERZERE (COD)
®ix 4.00 3, 650. 00 14, 600
BEEE(I.L)
®ix 4.00 2, 750. 00 11,000
£ (T-S)
®ix 4.00 3, 800. 00 15, 200
E£H/#xRE (T00)
®ix 4.00 3, 400. 00 13, 600
& it 1EXEEBEA - 1. 00K 89, 200. 00 89, 200
BS54
%*ﬂ'\ﬁ*ﬁ'?ﬂzﬁﬁ 1&%")
22 L R - BAKTIE BAL = B ff ® & = 5 &
FEHED (B%E)
A 2.00 64, 800. 00 129, 600
e (A)
A 4.00 57, 000. 00 228, 000
e (B)
A 6.00 47, 200. 00 283, 200
e (C)
A 8.00 38, 400. 00 307, 200
EXRARE FHEEDY
% 1.00 948, 000. 00 9,480
& it 1EXEEBEA - 1. 00K 957, 480. 00 957, 480
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1‘%1&% - ﬁEI/ {\\Jb-_:)

SHEESALERERRAT

&S5 :2
& . BRTHE IEED)
2 £ K - BIRTE B = i %8 W= 5 =&
BlEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 0.50 47,100. 00 23, 550
B = H AR
A 0.50 36, 900. 00 18, 450
= it YEZERERN : 1.00Mm 96, 600. 00 96, 600
&5 :26
B PREERE IEED)
2 £ I - BIRTE B = i £ W= 5 =&
BlEFEHED
A 0.50 54, 600. 00 217,300
B S HER
A 0.50 47,100. 00 23, 550
B = H AR
A 0.50 36, 900. 00 18, 450
= it YEZERERN : 1.00m 69, 300. 00 69, 300
&5 .27
2 . =BRE IEED)
2 o I - BIRTE B = i £ W= 5 =&
BlEFEHED
A 0.50 54, 600. 00 217,300
B S HER
A 0.50 47,100. 00 23, 550
B = H AR
A 0.50 36, 900. 00 18, 450
= it YEZHERN - 1.00m 69, 300. 00 69, 300
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1‘%1&% - ﬁEI/ {\\Jb-_:)

SHEESALERERRAT

%528
B MESER IEED,
2 £ K - BIRTE B = B ff & % W= 5 =&
F{EHED (55
A 1.00 64, 800. 00 64, 800
HEm (A)
A 2.00 57, 000. 00 114, 000
e (B)
A 3.00 47, 200. 00 141, 600
A (C)
A 4.00 38, 400. 00 153, 600
Hftt 8
A 2.00 33, 600. 00 67,200
EHARE FHEEDY
% 1.00 541, 200. 00 5, 412
= it YE%EReRN : 1.00K 546, 612. 00 546, 612
529
2 REBEHRM® IEED,
2 £ I - BIRTE B = B ff & % W= 5 =&
TEEHM FRP D 260PS%Y
=] 7.50 174, 764. 00 1,310,730 6. 00H / 8H
EFRVHF £ E| BRVHF 45
=] 7.50 620. 40 4,653
AR 2RDY
% 0.50 1,315, 383. 00 6,576
= 5 YEZ#eRN : 1.00K 1,321, 959. 00 1,321, 959
&5 :30
2 EBHRSR 1RHY
2 o K - BIRTE B = B ff & % W= 5 =&
XBRRRE
= 1.00 63, 000. 00 63, 000
= it YEZ#eRN : 1.00K 63, 000. 00 63, 000
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RifiF-ET/ 75—

SHEESALERERRAT

&5 31
2% . NEARRRIERE 1xX8Y ()
22 L R - BAKTIE B = B O{f £ = 5 &
AR (C)
A 0.50 38, 400. 00 19, 200
& B 1EXEEBEA - 1. 00K 19, 200. 00 19, 200
&5 :32
%Wﬁﬁléiﬁg 1:—£t§|')
22 L R - BAKTIE B = B O{f £ = 5 &
EIREE TR YUIRAE
= 1.00 45, 000. 00 45, 000
& it 1EXEEBEA - 1. 00K 45, 000. 00 45, 000
%5 :33
M ke X5y
2 L R - BAKTIE B = B ff ® & = 5 &
= 1.00 183, 128. 00 183, 128
& B 1EXEEBEA - 1. 00K 183, 128. 00 183, 128
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